The number
sentences are both
the same.

The numbers in
each number
sentence mean
different things.

In the first question,
the ‘3" means the
number of groups
the cubes are
shared into
because the cubes
are being shared.
In the second
question, the ‘3’
means the size of
each group.

Bar model B
matches the
problem because
Jack plants 3
seeds in each pot,
therefore he will

have © groups
(pots), each with 3
seeds.

Thursday answers Task 1.




Friday’s answers. Task 1

Mo, Mo is
incorrect because
division is not
commutative.

25 +1=25

1=-25= 1L

25



